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Equality HW
TUESDAY
Part I: Define equality and inequality.

1) In your own words, tell me what it means when a number sentence shows equality _______________________________
________________________________________________________________________________________________________
2) In your own words, tell me what it means when a number sentence shows inequality ______________________________
________________________________________________________________________________________________________

3) Draw the symbol for equality -- _________
4) Draw the symbol for inequality -- _________

Part II: Circle all of the number sentences that show equality.

18 + 2 = 20		15 + 2 = 18		4 + 4 = 8

8 – 5 = 2		24 – 10 = 34		22 – 6 = 16

14 + 3 = 17		19 – 7 = 13		31 – 7 = 28
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WEDNESDAY
Part I: Which sign (>  <  =) makes the statements true?

1) 15 +  15    _____  15 + 15

2) 10 _____ 10 – 7

3) 14 – 2 _____ 14

4) 1 + 0 _____ 1

5) 8 + 11 _____ 22 – 3


Part II: What number makes the statements true?

6) 15 + ____ = 20 – 3

7) 13 – 8 = _____ + 0

8) 10 + 10 = _____ - ______

9) _____ - 4 = 8 + 8

10) 9 – 6 = ____ + 1


[image: ]Part III: Circle all of the number sentences that show inequality.  Change the = to a ≠ when you come across an inequality. 

18 + 2 = 20 – 2		15 + 2 = 4 + 4

24 – 10 = 14 + 0		7 + 3 = 5 + 6
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Part I: Answer the following questions.

1) Which number sentence is TRUE?

A) 4 + 8 = 11	C) 7 – 3 = 5 

B) 4 + 8 = 12 	D) 7 – 4 = 1


2) Which number sentence is FALSE?

F)  6 + 4 = 10	H)  8 + 2 = 9 

G)  7 + 3 = 10 	 J)  8 + 2 = 10



3) Which of the following makes the statement FALSE?

8  =  ____

A) 7 + 1		C) 4 + 3

B) 8 + 0 		D) 2 + 6


4) Which symbol goes in the blank to make the statement TRUE?

4 + 8   ___   9 + 3

F) = 				H) < 

G) > 				J)  ≠
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Use this bar graph for questions 5-8.
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5 According to the bar graph, which of the following is TRUE?

Nike® and Reebok® have the same number of votes.

‘The number of votes for Keds@ is twice the number for Adidas®.
Reebok® has more votes than Nike®.

Keds® has the lowest number of votes.
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6  What nformation can NOT be determined from this graph?
F the number of votes for Nike
G the shoe ith the highest number of votes
H the shoe size for the type of shoes
3 how many more people voted for Reebok® than Adidas®
2
7 Whatis the total number of votes for Nike® and Adidas®?

A 12 c 2
B 16 D 38
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8  Which statement is FALSE?
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F Nie® has 12 votes H  Keds® has 8 votes
G Adidas® has 4 votes 3 Reebok® has 13 votes
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